B APNaLS_4eALA

UEILA40_LZA4E Y

=

o
o

0.5

alphal3_4eX1X:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum

delta46_12X4eY:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum

alpha4b_4ey4ay

7837

7836.5

7836

7835.5

7835

7834.5

7834

7833.5

7833

alpha46_4eY4aY:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum

run:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum

deltal3_lzx4ex

segment

o
o

25

15

05

deltal3_12X4eX:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum

segment:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum




USI_1A

usi_4ey

0.5

=

usl_1X:cyclenum {run == 7835}

P -
e e e eeeeamaenaaaaan .-

9552 9552.5 9553 9553.5 9554
cyclenum

usl_4eY:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554

cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum

usl_12X:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554

cyclenum

usl_sex

7837

7836.5

7836

7835.5

7835

7834.5

7834

7833.5

7833

usl_4eX:cyclenum {run == 7835}

[

9552 9552.5 9553 9553.5 9554
cyclenum

run:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554

cyclenum



USI_L1A

usI_aey

0.5

=

usr_1X:cyclenum {run == 7835}

P -
e e e eeeeamaenaaaaan .-

9552 9552.5 9553 9553.5 9554
cyclenum

usr_4eY:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum

usr_12X:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554

cyclenum

usr_aex

7837

7836.5

7836

7835.5

7835

7834.5

7834

7833.5

7833

usr_4eX:cyclenum {run == 7835}

[

9552 9552.5 9553 9553.5 9554
cyclenum

run:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554

cyclenum



=

usi_cont

0.5

—-2748

2748.5

-2749

2749.5

-2750

usl_coill:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554

cyclenum

usl_caoil6:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum

2422.2

2422

2421.8F
2421.6 F

24214 F

2421.2

2421

2420.8

2420.6

2420.4

2420.2

2420L

7232

7231.5

7231

7230.5

7230

usl_coil3:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum

usl_coil7:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554

cyclenum

5875

5874.5

5874

5873.5

5873

7837

7836.5

7836

7835.5

7835

7834.5

7834

7833.5

7833

usl_coil4:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554

cyclenum

run:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum




=

usI_cont

0.5

2835.5

-2836

2836.5

-2837

2837.5

usr_coill:cyclenum {run == 7835}

P -
e e e eeeeamaenaaaaan .-

9552 9552.5 9553 9553.5 9554

cyclenum

usr_coil6:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum

-2051

2051.5

—-2052

2052.5

—-2053

3835.5

33835

3834.5

33834

3833.5

usr_coil3:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum

usr_coil7:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum

5534.5

5534

5533.5

5533

5532.5

7837

7836.5

7836

7835.5

7835

7834.5

7834

7833.5

7833

usr_coil4:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554

cyclenum

run:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum




1A_CONL

4EA_CUIL

=

0.5

1

1X_coill:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554

cyclenum

4eX_coill:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum

=
o
o

LA_CUIS

10

9.5

8.5

—24.5

-25.5

1X_coil3:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum

4eX_coil3:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554

cyclenum

216.4

1216.2 F
216 F
2158 F

2156 F

215.4
215.2

215

214.8F
214.6 F

214.4F

214.2

227.8

227.6F
227.4F

227.2F

227

226.8F

226.6 F

226.4

226.2

226 F

225.8F

225.6

1X_coil7:cyclenum {run == 7835}

P N P P I I
9552 9552.5 9553 9553.5 9554
cyclenum

4eX_coil7:cyclenum {run == 7835}

SN AR I RPN B
9552 9552.5 9553 9553.5 9554
cyclenum




299

298.5

297.5

297

278

2775

277

276.5

276

4aY_coild:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum

4eY_coild:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum

-103

-103.5

-104

-104.5

-105

-127.5

-128

-128.5

-129

-129.5

4aY_coil6:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum

4eY_coil6:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum

-42.5

-43.5

-345

-35

-35.5

-36

-36.5

4aY_coil7:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum

4eY_coil7:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum




LZA_CunL

12X_coilé

0.5

IN

35

25

12X_coill:cyclenum {run == 7835}

=

9552 9552.5 9553 9553.5 9554

cyclenum

12X_coil6:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554

cyclenum

-81.5

-82.5

-514

-514.5

-515

-515.5

-516

12X_coil3:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum

12X_coil7:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum

12X_coll4
1
i

7837

7836.5

7836

7835.5

7835

7834.5

7834

7833.5

7833

12X_coil4:cyclenum {run == 7835}

9554
cyclenum

9552 9552.5 9553 9553.5

run:cyclenum {run == 7835}

9552 9552.5 9553 9553.5 9554
cyclenum
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